th 214 BC//DE 7} HI=% shejd AC 9 Polt Juta 4
sfofol H=1?

@ 2 @ 25 @3 @ 3.5 ® 4

BC//DE 7} =l2]" AB: BD = AC : CE °]th.
4:8=x:6

8x =24

Lox=3
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o5 283 22 AABCOA H G&= aABC Y FASAHCIL HE
L DC9 ZHolt} AG = 12cm ¥ W], FE 2] Zo|=?

A

=
Q

@ 5em @ 6cm ® 7cm @ 8cm @9(:111

~&B ~

A G AABCY BAZAolBE2 AD: AG=3:2
AD:12=3:20|B&

2AD = 36
- AD = 18 (cm)
ﬁ:ﬁ,ﬁ:EOIEE_F:%_D:—><18:9(cm)




Oh& FPAEE ABCD oA AAOD 9] #7122 ©]al, AC =
10, BD = 1849w, BC ] Zol=?

® 5 @ 6 @7  @s ® 9

AAOD O EY=A0+DO+AD=5+9+AD =22, AD =8
ot
-~ BC=8




& BHAPAFABCD o4 AP, CQ& A (A, «C 9] o] 5-2Al°]
I /ABP = 62° & W, LAPC ©] A7]&?

A_Q

62° A
B P C

O 62° @ 59° @ 118° @121° ® 124°

/ABP = 62° 0|22 /BAP = (180° - 62°) + 2 = 59°
webA] LAPC = 62° +59° = 121°
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9. & 1Yol BC//DE € W, b5 F &2 S BF 12w

DF BG _—
© % ®
ORQX®) 2)9,6,® ® 6,60
® ©,6.© ® 9.0

ODF:BG-AE.AC@ 2F _AE _AD

AG AC AB
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& 1394 /BAD = /ACB, /DAE =
(EAC ¢ u], DE 9} EC 9] Zo|9] 25 +
shodat.

® 0.5cm @ilcm @ 1.5cm

@ 2cm ® 2.5cm

~&B

AABD ¢ ACBA
AB:BD =CB:BA

— — 64 16
AD:AC=2:30B2
- - 12
DE:EC=2:3, DE = 3
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@ 2cm @ 3cm 3 )4cm @ 5cm ® 6cm

B

AAFD A AE = EF , AG = GD °|B& 473 51 A2
g2l 2l

FD =2x, FD //EG

ABCE 4] BF = FE , FD // EC ©|2& 47 g 9| 42
2] 2] Hof of5f

D — x+12cm
2

_ 12

FD = 2x = xg
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tt& 1Yol A AD//MN//BC o]t}
OAMND 9} oMBCN 9] {ol7} & of,
x? O] Fh2?

D 127 @ 137 ® 142
@153 © 17
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B C

AOAD : AOMN : AOBC = 81 : x% : 225
OAMND = oMBCN ©]| 22

x? —81 =225 - x2

2x% =306 .. x> =153




13. o= 23e] B3 A ABCD oM a+b
of #2?

@ 19cm @ 20cm ® 2lcm

@ 22cm ® 23cm

(DAF = (CEF (- 597}
(BAE = (CFE (= 97}
ACEF = o]|5H 4714 o] x]o] CE = CF, b = 8cm

-
ADAF & o|5H A7 o] El11, oABCD ©A] AB = DC ©]
oz
AD=DF=a=b+DC=8+3=1lcm
“a+b=11+8 = 19(cm)
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A EHESE F,CDY $4S G &, AAFG 9] Hol=?

A D

G

@ 20cm? @ 40cm? ® 60cm?

@®)80 cm? ® 100 cm?

_g]

~&B

AABF 2} AAFC oA =0]7F &3 @Ho] 2: 10]22 AABF :
AMAFC=2:1

2 2 1
AABF = 3% AABC = 3%5 X OABCD = 80(cm?)
- 1
ntzt7kz] W o g ADFC = §ABDC

1 1 1 1
AFCG = §ADFC = - x-aABDC = EDABCD = 20(cm?)

273
AAGD = %AACD = %DABCD = 60(cm?)

. AAFG = OABCD - AABF — AAGD - AFCG = 240 — 80 —
60 — 20 = 80(cm?)




15. th2 199 Atte]&E ABCD °|4 AB, DC 9 £%o] 2t M, N
o] AD+BC=36,MP:PQ="7:4 < o], x2] k22

@ 11 @ 12 ® 13 @)14 ® 15

AD=x,BC=36-xz2}3IH
— 11— 1 — 11— 1

MP:MQ="7:119]22
1 1
—x:—=(36-x)=T7:11
5% 2(36 x) =7
Lx=14




